Industrial Air Circulator Instructions
All Industrial and Heavy Duty Fan Heads

READ AND SAVE THESE IMPORTANT INSTRUCTIONS

It is recommended that you follow safety instructions:

° ALWAY'S unplug unit for cleaning, wipe with damp cloth and mild detergent.

ALWAYS unplug when not in use.

ALWAY'S unplug when moving fan from one location to the next.

DO NOT allow unit to become wet or damp.

DO NOT oil, motor is permanently lubricated.

DO NOT put foreign objects through fan guards into blade.

WARNING: To reduce risk of fire and electrical shock, do not use this fan with a solid state speed control device. Plug unit into properly
rated service outlet.

READ ALLASSEMBLY INSTRUCTIONS PROVIDED WITH ALL ACCESSORIES BEFORE BEGINNING WITH THE ASSEMBLY OF THE
FAN.

NEVER USE AN OSCILLATING MOTOR IN CONJUNCTION WITH AMOUNT WHICH WILL SUSPEND THE OSCILLATING MOTOR IN
THE UPSIDE DOWN POSITION SUCH AS A CEILING OR I-BEAM MOUNT.

ASSEMBLY INSTRUCTIONS

Before assembly fan head, mount must be fully assembly and installed as indicated in the instructions provided with mount.

Mount the motor to the applicable mount using the 1/2-13 x 1" screw, 1/2" lock washers, 1/2" hex nuts, 1/ 4"-20 x 1" screw,
1/4” lock washers and 1/4” hex nuts provided. Reference illustration below.

Mount rear guard to the motor studs using the flat washers, lock washers (optional with some assemblies) and hex nuts provided. Note
that one flat washer must be placed on each motor stud before the rear guard is mounted. Refer to illustrations below.

Place the fan blade onto the motor shaft. The CONCAVE or CUPPED portion of the blade’s paddles should face away from the motor.
Position blade onto shaft so that there is equal distance between the front and rear guards to the blade. Securely tighten the set screw
against the flat on the motor shaft. DO NOT TIGHTEN SET SCREW TO ROUNDED PORTION OF SHAFT. Reference illustration below.

Mount the front guard by interlocking the hooks from the front and rear guard under the outer most ring of the opposite guard. A flat blade
screw driver will aid this process greatly.

Connect motor cord to the power cord, if assembly has a two piece power cord. Plug directly into a properly rated service outlet.

OPERATING INSTRUCTIONS

The speed of the fan can be controlled by the pull chain switch. The sequence for Industrial models is High, Medium, Low and for Heavy
Duty models is High, Off, Low, Off.

The angle of the fan may be adjusted up and down by loosening the 1/4” and 1/2” motor mount bolts. Position fan head into desired
direction and securely tighten motor mount bolts.
WASHER, LOCK TYPE <OPTIONAL>

WASHER, FLAT 3/16” 1D, 3/4" 0D

MOTOR CASE BDLTS‘X

MOTOR
172" NUT, BOLT, & WASHERS
1747 NUT, BOLT, & WASHERS

NUT,HEX

FAN BLADE/

FRONT GUARD

MOUNT
(PEDESTAL SHOWN)

REAR GUARD CENTER LOGO

FORM: 9899




FAN BLADE TRACKING INSTRUCTIONS

To ensure smooth operation it is recommended that the fan blade be tracked before initial uses.
Refer to the illustrations and instructions below.

ALWAYS DISCONNECT THE FAN FROM ALL POWER SOURCES BEFORE TRACKING THE FAN BLADE.
NEVER OPERATE THE FAN WITHOUT ALL FAN GUARDS PROPERLY IN PLACE.

IMPORTANT: Do not attach fan front guard until blade tracking is complete.

Track each paddle of the blade, by using a small ruler or similar measuring device to measure the distance
between the rear guard and the leading edge (edge of fan blade paddle leaning closest to rear guard - left edge
of paddle as looking at blade through rear guard) of each fan blade paddle. Refer to illustrations below.

Insert the measuring device through rear fan guard into the leading edge of fan blade paddle allowing measuring
device to rest against rib of guard. Measurements shall be taken by leaving measuring device at the same
location; while rotating fan bade counterclockwise to measure the distance between the rear guard and the
leading edge of each paddle. It is recommended that two measurements be taken on each paddle:

1.) near outer tip of fan blade paddle, 2.) near inside (toward center of fan blade) of fan blade paddle.

Refer to illustrations below.

If the measured distance between the rear guard and the leading edge of each fan paddle varies less that 1/8”
the blade does not require tracking. If the measured distance between the rear guard and the leading edge of
each of fan paddle varies more than 1/8” the blade requires tracking to allow all fan paddles to rotate within the
same plane.

When moving the paddle of the blade which requires tracking, back into track, carefully adjust blade paddle by
hand. AT THE SPIDER OF THE HUB near the motor shaft. DO NOT BEND THE FAN PADDLE, since this may
contribute to poor performance and/or rough operation. After tracking the blade, assemble front guard and check
the fan’s operation. Repeat as necessary to achieve best performance.

For additional information on TPI Products or replacement parts, call TPl Customer Service Department at
1-800-251-0382 or write the address below.

DISTANCE TO BE MEASURED-—
FROM REAR OF GUARD TO
LEADING EDGE OF PADDLE

INSERT MEASURING DEVICE
NEAR GUARD RIB AT THESE POINTS ;

7 POINTS ON LEADING EDGE OF

PADDLE WHERE MEASUREMENTS
RE TO BE TAKEN

SPIDER, POINT WHERE
ADJUSTMENTS TO TRACKING
ARE MADE

MOUNT-
(PEDESTAL SHOWND
REAR FAN GUARD

(FAN HEAD SHOWN WITH
FRONT FAN GUARD REMOVED)>

IMPORTANT NOTE: THE LEADING EDGE OF THE FAN BLADE PADDLE IS THE EDGE OF THE
PADDLE WHICH LEANS CLOSEST TO THE REAR GUARD - THE LEFT EDGE OF THE FAN
BLADE PADDLE AS LOOKING AT THE BLADE THROUGH THE REAR GUARD.

P.O. Box 4973 * Johnson City, Tennessee 37602-4973 * 423-477-4131 * Fax 423-477-0683

FORM: 9899




